Cracking Comprehension Teacher's Guide

Name: Class: Date:

1. Write the words from the first poem that rhyme with:

star
[ |

hlgh 1 mark

2. In poem 2, why isn't the first line “Twinkle, twinkle, chocolate cake"? Tick the
best answer.

The writer likes bars of chocolate better than chocolate cake. []
Chocolate cake doesn't fit with the poem’s rhymes. ] ﬂ

Chocolate cake doesn't twinkle. [] 1 mark

3. What do you do after you press the starter in poem 2?

1b

1 mark

4. In poem 2, do you think the car is a new car? Say why.

1d

1 mark

5. Twinkle, twinkle, little .

| see you have a nice new coat.

Which is the best missing word for the first line of this poem:

horse [ ] boy [] I:'
moon [ ] goat [ ] 1 mark

6. Draw lines to show which things you read about in the same poem

star tea-tray
chocolate bar diamond ﬁ
bat cloud of smoke 1 mark

© Rising Stars UK Ltd 2016. You may photocopy this page. 77



